
 

 

Hoja 4.3                                    Matemáticas 3º ESO                                      © FerMates 
Soluciones (versión β, puede contener errores) 
 1.- 
  
a)   x=3, y = 4   b)   x = 14/5, y = 11/5  c)   x =  – 2, y = 2 
 
 
d)   x = 3, y = 2  e)   x = 3, y = 2  f)   x = 2,  y =  – 2 
 
 
g)   x = 3, y = 3  h)   x = 3, y = 2  i)   x = 2, y = 0 
 
 
j)   x = 4, y = 2  k)   x = 1, y = 2  l)   x = 2, y = 1 
  
2.-  
 
a)   x = 4, y = 0  b)   x = 1, y = 6  c)   x = 5, y =  – 2 
 
 
d)   x = 5, y = 18/5  e)   x =  – 3, y =  – 2  f)   x = 9/7, y =  – 4/7 
 
 
g)   x = 2, y = 2  h)   x = 6, y = 2  i)   x = 2, y = 2 
 
 
j)   x =  – 5, y = 6  k)   x = 1, y = 3  l)   x =  – 6/5, y = 4/5 
 
3.- 
 
a)   x =  – 3, y =  – 7  b)   incompatible  c)   x = 0, y =  – 2 
 
 
d)   x =  – 18, y =  – 8  e)   incompatible  f)   x = 1, y = 0 
 
 
g)   x =  – 1/7, y = 3  h)   x = 7/8, y = 3/8  i)   x =  – 1, y = 1 
 
 
j)   incompatible  k)   x = 2, y = 2  l)   indeterminado 
  
 
 


